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A3=(a3~ap) Y1g (Y/Ym)i;?’ As=(@s=a4n) Yig (Y/Y13)1;3
B3 = (b3 — by ) Y1g (Y/Y191/3 By = (bs — bay) Yag (Y/V191/3
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byg [(Mp1x+bp1)/y] lo173 43 bs=byo [(Mp1x-+bp1)/y]
ay0=1, byy=-0,4 007 ay=1, byy=-04 9173 43
mMp;=-1,344,bp,=0,781 . /’ﬂ . A:?' mMp;=-0,157,bp1=0,385 . [27%% A:"
2 } t t » it t t t »
n = P60 -40 40 n = P60 -40 5 40
31 31
6
8
Osfwalddolours (o) Yyy=100 Ostwalddolours (o) Yy=100
ma (m)Ehdfatic value, P60 max (m)Fhdatic value, P60
chéoma (A*310 B*310) chroma (A*4 10, B*410)

BE261-5A_1

BE261-6A_1
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A= (@121 Yig (Y/Ym)l/ Ax=(@-apn) Yig (Y/Ym)l/
By = (b — by ) Y1g (Y/Y;91/3 By = (b — by ) Yag (Y/Y19)1/3
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max (m)Ehdfatic value, P30 max (m) chromatic value, P30 T-40
chroma (A* 10 B*110) chroma (A*5 10 B*210)
BE261-3A_1 BE261-4A_1
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